Science Long Term Plan

Primary School
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Year 3

Z Jawuwng SIDHQDH 413y} pup sbuiyy Buiar
T Jswwng SIDYGDH J19y3 pup sbuiyl buiar
Z bunds
1 Bunds (9A) subwny Buipnul s)pwiuy
2 uwnny 95pds pup yp3
T uwniny $92404
Z Jawuwng STRIFERENE]
T JSwwng Wb
Z bunds
1 bupds Apnis 3s13UBIS
2 uwnmny 35UD}IIaYU| PUD UOIIN|OAT
T uwnmny S1DLISID
ApMis 3siUBPS
Z Jswwng (#A) SUDWNH *Dul SPWIUY
Apnis IsiuadS
1T Jswwng (#A) SUDWINH *dul S)PWIUY
Z bunds punos
1 bupds Wb
2 uwnmny (EA) SUDWINH *dUl S)DWIUY
T uwnmy SIDUQDH 413y} pup sbuiyy buiar
Z Jswwng Sjupld
T JSwwng sjuoYd
Z bunds s32ubD|y puD S3I104
1 bunds Kyp3de3
2 uwniny S320Y
T uwnmy J9MIDIN JO SIIDIS
Z Jlswwng (ZA) s1oLeIDW AbpAiang
T Jlswwng (2A) syuoid
2 buuds (TA) s3upid
1 Bunds Apnis 1s1usdS
(2A)
Z uwniny S)DLIIDW ADPAIaAT
T uwnny (TA) SyoLeIDW AbpAiang
2 Jawwng (ZA) subwny Burpn)pur sppwiuy
2
T swwns |3 (ZA) supwny Buipmpdul syowiuy
2
Cl
Z bunds 9 (TA) subwny Burpn)pur sppwiuy
2
2
1 Bunds v (TA) subwny Burpndur sppwiuy
2
2
Zuwmny |3 SIDUGDH J19Y3 puD sbulyy Buiar
(%]
T uwniny SID)GDH 412y} pup sbuiyy buiar
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2 Jawuwnsg [STRIFERENE]
T Jswuwng w6
Z Bunds
1 Bunds Apmis Ispuaps
2 uwunny 95UD3BYU| PUD UOIIN|OAT
T uwnny SIDLIRID
2 JBwwns SIDUQDH J19y3 pup sbuiyy buiar
T JSwwng SIDYGDH 419y} pup sbulyl buiar
Z buuds
1 Bupdg (9A) supwny buipn)pul s)pwiuy
2 uwnny 2opdg pup Y3
T uwnny sa2404
2 Bwwng sjuonYd
T JAwwng sjuoYd
Z buuds s32uUbD|y puD SBI104
1 bupdg Aypupe)3
Z uwnmny syo0y
T uwnny 191D JO S3IDIS
Apmis 3sipuads
Z Bwwnsg (#A) subwnNH *dul SPWIUY
Apmis 3sipuads
T Awwng (#A) SUDWINYH *dul S)DWIUY
2 buuds punos
1 buuds wbn
Z uwnmny (EA) SUDWNH *dul SOWIUY
T uwmny SIDUQDH 419y} pup sbuyy buiAr
2 lswuwng (ZA) supwnH buipn)pul sypwiuy
=)
T Jswuwng .m (ZA) supwnH buipn)pul sypwiuy
g
)
Z bunds 4 (TA) subwny Butpndul s)pwiuy
2
2
T buuds  |© (TA) supwnH buipn)pul sypwiuy
2
2
Zuumny | o SIDUQDH 419y} puD sbulyy Buiar
(%]
T uwnny SIDUQDH J13y3 pup sbuiyy buiar
2 lBwwns (ZA) s1pLLIDW AbpAiang
T Jawiwns (2A) s3up1d
Z buuds (TA) s3upYd
1 bunds Apmis Ispuaps
(2ZA)
Z uwniny s pLRIDW ADPAIaAT
T uwnny (TA) S10L23DW AbpAIang




